©60Q

BN SO

s =
e

4X M2 Brass Inserts [PP-MP0066]

2X M2 Brass Inserts [PP-MP0066]

2X M3 Brass Inserts [HD-MS0030]

i
£ 9
()]
o
| -
(D)
(2]
S
r_
(©)
e’}
(@)
S o
| g O
T n 2 9
nu Uo
o <
e_.B 2 a
o) s
= o)
X T g g
e
-~ <
.uu"N
g
-
o o0}
myl 4
F ) y En./_
m..II.E—I_EALl
o 35 E|N <
8F 3N e 2

2X M3 Brass Inserts [HD-MS0030]




	Slide 1

